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N-000O0000000000
v--000000(@0)C
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oo gogd

(197500 00000)

| 00 | o0 | oono | 00 | o0 | oono
I | Ag | 107.868 | O | F | 18.998403
| 0 | Al | 26.98154 | 0 | Fe | 55.847
| 0 | Ar | 39.948 | 0 | Ga | 69.72
| 0 | As | 74.9216 | 0 | Gd | 157.25
I 0 I Au I 196.9665 I 0 I Ge I 72.59
0 B 10.81 0 H 1.0079
| 0 | Ba | 137.33 | 0 | He | 4.00260
| 0 | Be | 9.01218 | 0 | Hf | 178.49
| O | Bi | 208.9804 | O | Hg | 200.59
| 0 | Br | 79.904 | 0 | Ho | 164.9304
I 0 I C I 12.011 I 0 I | I 126.9045
O Ca 40.08 0 In 114.82
| 0 | Cd | 112.41 | 0 | Ir | 192.22
| 0 | Ce | 140.12 | 0 | K | 39.0983
| 0 | Cl | 35.453 | 0 | Kr | 83.80
| O | Co | 58.9332 | O | La | 138.9055
| 0 | Cr | 51.996 | 0 | Li | 6.941
| 0 | Cs | 132.9054 | 0 | Lu | 174.97
I | Cu | 63.546 | O | Mg | 24.305
| O | Dy | 162.50 | O | Mn | 54.9380
I | Ey | 167.26 | O | Mo | 95.94
| 0 | Eu | 151.96 | 0 | N | 14.0067
| 0 | Na | 22.98977 | 0 | Se | 78.96
| O | Nb | 92.9064 | O | Si | 28.2855
| O | Nd | 144.24 | 0 | Sm | 150.4
I 0 I Ne I 20.179 I 0 I Sn I 118.69
0 Ni 58.70 0 Sr 87.62
| O | Np | 237.0482 | O | Ta | 180.9479
| O | o} | 15.9994 | 0 | Tb | 158.9254
| 0 | Os | 190.2 | 0 | Te | 127.60
| 0 | P | 30.97376 | 0 | Th | 232.03861
| 0 | Pb | 207.2 | 0 | Ti | 47.90




I | Pd | 106.4 | O | Tl | 204.37
I | Pr | 140.9077 | O | Tm | 168.9342
I | Pt | 195.09 | O | U | 238.029
| D | Ra | 226.0254 | O | V | 50.9414
I | Rb | 85.4678 | O | W | 183.85
| D | Re | 186.207 | O | Xe | 131.30
I | Rh | 102.9055 | O | Y | 88.9059
| D | Ru | 101.07 | O | Yb | 173.04
| D | S | 32.06 | O | Zn | 65.38

I | Sh | 121.75 | O | Zr | 91.22

I | Sc | 44,9559 | O | O | O




Joo doodooogooogd

U
gogn god god uo uo
0 Cl, 70.906 35.453 0
000 NaCl 58.443 58.443 g
ood BaCl, 208.236 104.118 U
O BaCl,.2H,0 244.266 122.133 0
000 CaCl, 110.986 55.493 U
U CaCl,.6H,0 219.077 109.539 U
Oo0d KCI 74.551 74.551 0
0od NH,CI 53.491 53.491 U
000 AgCl 143.321 143.321 0
000 MgCl, 95.211 47.606 U
U MgCl,.6H,0 203.302 101.651 U
g HCI 36.461 36.461 U
0od Na,S.9H,0 240.176 120.088 U
gogno Fe(CNS); 230.080 76.693 U
oooogd Na,5,03.5H,0 248.185 248.185 U




O Na,S,03 158.098 158.098 O
00 H,S0, 98.073 49.037 O
0oag Na,SO, 142.037 71.019 O
0 Na,S04.10H,0 322.189 161.100 O
0oQg BaSO, 233.388 116.694 O
00O CaSO, 136.138 68.069 O
0 CaS0y4.2H,0 172.168 86.034 O
0oQg K,SO, 174.254 87.127 0
ooo (NH4)250,4 132.134 66.067 0
000 Fe,(SOy)4 399.866 66.661 O
0 Fe,(SO4)3.9H,0 562.004 93.667 O
0ooo FeSO, 151.905 75.953 O
0 FeSO,.7H,0 278.011 139.006 O
ooooo Fe(NH,)2(SO,),.6H,0 392.130 196.065 0 Fe2+[]
oooo NH4Fe(S0,),.12H,0 482.194 160.731 0 Fe2*[]
000 CuSO, 159.604 79.802 O
00 Aly(S0O,)3.18H,0 666.410 111.068 O




oooo@o) KAI(SO,),.12H,0 474.377 158.125 0 AR+

O00O0@O0) | Al(SOy)s(NH,), 906.635 151.106 0 A0
0 50,.24H,0 O O O
00O ZnAO,.7TH,0 287.544 143.772 O
00O Ag,SO, 311.793 155.897 O
000 MgSO, 120.363 60.182 O
O MgSQO,4.7H,0 246.469 123.235 O
oooo Na,SO3 126.038 63.019 O
00 HNO; 63.013 63.013 O
00O Ca(NO3), 164.090 82.045 O
O Ca(NOg),.4H,0 236.151 118.078 O
000 KNO; 101.103 101.103 O
ooo Pb(NO3), 331.210 165.605 0
000 AgNO; 169.873 169.873 O
oooo NaNO, 68.995 68.995 O
0ooo NaHCO; 84.007 84.007 O
000 Na,CO3 105.989 52.995 O




0 N2,CO3 10H,0 286.141 143,071 0
0000 Ca(HCOy), 162.114 81070 §
0oo K,COy 138.206 69.103 0
000 MgCOs 84.314 42.157 §
noo CaCO;, 100.089 50,045 0
0000 NH,HCO; 79.005 79.005 0
00 H3PO, 97.995 32.665 §
00 H,C;0,.2H,0 126.067 63.0335 O
§ H,C30, 90.035 45.018 0
000 Na,C,0, 133.999 67.000 §
noo CaC,0, 128.100 64.050 0
0000 KoCr,0; 294104 48.351 HH D+EEC?+3D Jer
0oo K,Cro, 194.190 97.095 §
0000 KMnO, 158.034 32,678 Rl
00 H,Si0; 78.100 39.050 0
000 HF 20.006 20.006 0
00 CH3COOH 60.052 60.052 0




000 CH3COONa.3H,0 136.080 136.080
000 CH3COONH, 77.083 77.083
00 H4BO; 61.832 20.610
000 H,C4H40¢ 150.087 75.044
0DoooQ NaKC,4H,0g 210.160 105.080
00 HCOOH 46.026 46.026
Dooooo KHCgH4O, 304.223 102.112
00 CgHsOH 94.113 15.687

O 0, 31.999 8.000
000 Na,O 61.979 30.490
000 CaO 56.079 28.050
000 Fe,04 159.692 26.615
000 Al,O4 101.961 16.993
000 MgO 40.304 20.152
0Dooo H,0, 34.015 17.008
O NH; 17.030 17.030
0Dooo NH4OH 35.046 35.046
0Dooo Ca(OH), 74.095 37.048




o000 NaOH 39.996 40.000 0
oooo KOH 56.106 56.106 0
oooo Ba(OH), 171.345 85.673 0
0 Ba(OH),.8H,0 315.466 157.733 0
oooo Mg(OH), 58.320 29.160 0
00000000 |CloH,N,OgNay.2H,0 372.239 186.120 0 0O EDTA
ooo (NH,)¢MO-0,,.4H,0 1235.856 0 0
ooo MnSO,.H,0 169.014 84.507 0
0 MnSO,.4H,0 223.062 111531 0

0




J0o ooogoogd

U g obobodaogooo obobodaogoo
H* 1.008 0.9921 1.008
Na* 22.989 0.04350 22.99
K* 39.10 0.02558 39.1
Ca2+ 40.08 0.04990 20.04
Mg2+ 24.305 0.08224 12.16
OH- 17.007 0.05879 17.01
Cl- 35.453 0.02821 35.45
HCO~3 61.017 0.01639 61.02
SO,% 96.05 0.02082 48.03
Fe2+ 55.847 0.03582 27.92
Fe3+ 55.847 0.05373 18.61
Mnz* 54.938 0.03641 37.46
Cuz* 63.546 0.03146 31.77
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